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- lﬁ .—-:('_'2.-

Pu{".l‘na yalﬂe o'{ 3

X (I"z) ::8
x'-2x -8 =0

0 2 Lel o be the positive number

n @ its square will be oot Now
' a,.c(,m"dll"\a lﬁ g!vey\ Cond {lOn
21 % =30

:ol 7-#x+JC THo = 0O

T+ X 4 -8 N
'I(:JE+?-)'"H.(S(+-2,) =0 o -+ zgx_f\Qx--Svu 0
: A 20) 19 (X420 - ¢
(c+2) (¢-4) =o | XAy (L £20) o
X4 =0 > X +e =0 | x-ja =v , A +20 =0
x =4 y L= oy -t4 e e |
R N TURRT ot A
J=b-¢=2 Y= -2-¢ =—4 nuw bey
So number = 20 +10Y So number =LA 10Y let %% be one P‘“k 1hen olher
~u4lolz) = -z 404 p«rl will be 4o -«
=44 o=l =-L-40 =-42  Guin of squarcs of parls = +(¢|0,£)
Required number is 24 or —4L2 Producl of the porls = x(4o-u)

Accordinﬁ to given cond ition

ExEnclSE@é.%% [xli-tqu)j ~2 [X(Ho-x)] = |20

Q.1

o™t (1600 — Box+X ™ )-2x{uo~X ) =100

let xcbhe cerlam poslive number, Then Xr 1600 —Bo2X vt Gox A2 xl—loa o

one less th —

! an o meany  of —| 4 gcl-—ltio;x; + ISo8 =0
Two less Than fhvee limes ¢ means .

| | o Dividing oy
S.L—?_,Nou_l Aa:om[mq To given condition K LoX +BTS =O
(one less than ot} (o less Thaw three dimes x) o2 S - 15Kt D18 =0

re. (x.__.l)(z)x

Bax'—5x —

dx-qx +4x 1T =0

) =14
3 -2X-BX ALY =0

=14 x(x-zs)—jS(x-—?.S):o

(-1 x—25) =o

= O x,_IS =0 3 9(,—25=D

=18 y X=2§
14 one port is 15 then other part =

Bad X =B +4(X-3) = o
(X=3)(Bx+l4) =o Lo—15 =28
X—-Bc0 ), 3ac+r=o=> X =3, x:%‘_ 1_{ one porf ;:0 Zigﬂ\z-;\s_ﬂkcv povt=
—.:'ﬁ Umpo.ssihle heinj negotive ) 0 4 Lel ¢ be positive e

Hence OC. % a5

required pesitive According 1o 3“’%;) condition

number - . X+ =
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Mu”ibhj blj S we ﬂet : (x—ll)(_x+|2) ~-0
N _ .
s5x +S'—'2-6x-. x -1y =0 > AW HIZ =0
STLE-ZGDC-fS‘=:O QC:=|1 5 X = ﬁla
P s-x’--_zs—x -~X+5 =0 ‘ ]:f x =V then x41 = H+l =2

st (x-S)—1{xX-5)=0

(c-s) (S —1) o 1 0= 12 then Xy (= =121 I
(-5 - =

Hence Lo conseclive numbers ave

xX-S =0 » 5xX-t =0
. | ,12 or =%, —i
X = p) = = .
‘ |5_ ‘ 0-7 Lel & and x+2 be luwe
Hence o =5 omd 2=l are requved ' 0 | .
nambers. ve eentnunibers then QCF_Of‘dIP\(j

te given ‘c.nnolib‘on}.
(:x:+2)?’—ac3 =296
X ¥4 8432 (XY (2 ) -xLedb=0 |

6" +12 x— 288 =0
Du'vid\'nﬂ btf 6 we nel -

015 lel 2 be 1he number Then
its quare root = y&
Now acwrdinq Le given condiLjon.
X=X +56
x-56 = X
' 1h sides
Scyuarmg ﬁb ( S
(x-56) = (X)
Cx-H2x 4 BI36 = o

xX'+2x— 48 =0
x4 oo — 6 —H & =0
x(x48) —6(x+8) =0

L2 X ~XrB3BE =p (oc-6) (X +8) 108
. | -6 =« x+8 =0

X'~ i3 + 3136 =0 A6 =0 ) |
AL =6 ) o = -8

X —64 £ -492x +3136 =0
X (Xx-6u)-4a{ x-64) = o
(x'_blf) (_\K-"L‘Iq) =0
AL~tU =0 ) X -4 =o

Ij x=6 then X42 = 62 = 8

If x=-8 then wc+2c-B)42 = -6

Hevee Luwo conseclive numbevs are
6.8 or ~8»-b-

Q.8 et x ve number of sheep

A mnount {or x Sh(—.'ep = Qooo
Hrmounl for | sheep = Qoeo
' e

J = 6‘-\ ' 3 XH = Qq
X= 4A does nol satisfy given condition
lHence required number (s a=64

0-6 tet xx and octt be Lwo

Conseclive numbers then occorﬂlinﬂ Lo
givewn condilion.

X(xs+t ) =152

Joon

x+3

Amount jor L13 She.eP =

ficcording Lo given condition.

) _ C]ooo__ - qootz_
X4 132 =0 ~ 1°° % o3
412t -132 =0 Malbiply by 2 (213) we gel.

X(A+I12) - (X +12) =0
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4 oco
1l Xt+3) _%_51(x45)|oo=x(xt3)3°_°° Hence £ =30 olog.e,n €995 were

Qooo( x43)—100% (x43) Jooo sold by The slockist .
Diwding by 100 0.10 Let speed 1o cover 48km=
Qo X+3)—X(L+3) =90 7 Time tocover 48 kym =1

GoX +2lo—-X ~Fx = ol As ‘Laslance = S[Jecd ¥ time
o:x*—+3x+‘iox-‘}ox~2'/c S0 4q8 = xl- or x{,'—'—'l-u?-—-}(l)

3

T+ B —270 =0 Now d 1o cov : .

X +18 X 150 — 270 =0 ) Speed 1o cover 4g km by travelling
X(xHE)—1SLX+H18) =0 - ekm/he slower = -
AXS)I(X+18) =0 Time laken wilk 1hi's sp‘ceol: _t+2_
X -1§ =0 3 X 4 18 =0 Dlsr;c?— = ZPE‘!A) :itu':ne

, s
x =185 ; ‘ s +2)

= — |8 {impossible)
%= Bt > 40 = xi42x-20 4
Hence X =15 s number o[ shceP
29 Ll total dogen eggs to be M 2x-2t-4 =0 :

Amount for Dcdogen €g491 = 24o x-1 —2 wo

Hmmht -f-or‘l dD}CJ‘I e_%;’ 2—‘10 -~ _ L +2
Amounl for 20+2 dogen eggs = ?_{L‘Z Pulling value of 2 n @ wcgel
At+e

(L1 2)t = 48

Acmrd"“g 1o _siveh Candl"ti'bl’lf -L‘L_{- ' L - L{ 8 =0

240 0-50 = 2-‘“3

= Xt (P o6l+8l-4B =0
Mumplylng by ¢ (x42) we get L{t-6)+8(L-6)=0
.x(xﬁ_) z“"—o So x(xﬂ) = glio W(X+2) (L-6) (L+8) =v
X L-6=0,lt8=0 ey L =6, L=-8 |
'll(o(x"?—) - 0-fo I(I-IZ):!'Z-QO-L lePo$S|ble) |

. . S0 l= 6 hours is T‘C(}uerd Lime.
2uox +4f0-0-soat-x = zhoX gy 11

_o0-Sox —X+4go =0
0.-SoX '+ ~4Fo =0

Multiplying by 2 : | V/ 7

x*+32-30x-9Lo =0 3m im N AI
A(x+32)-0(X+32) =0
(x-30) ( x+32) =0
X~30 =o

lLet LEnth o-f origina[ red'angle =X
width of original reclangle =

> x+32=0 "t frea = length x width
=30 , a=-32 So MI= XY -0
{impossible )
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After changing lengﬂx and width
MNow, Lcngﬂl of new rn:_tangle: X473
width, o4 new rectan_r,lc’.: 4 )
** Area of new recto.ng{e = (X +3) (Y1)
But gven That area 229743 = Boo
So 300 =(X43)(Y-1)
300 = -’Jc(d—ac-f?nd -3
300 = 297 -X +3y ~3
?)DD'-ZQH +x-'53 = .
X - By +6 =0
e A -—53‘3 -6 --—-—-——-—>®
?u{{irﬂ value of a in (D
297 = (3y-6)y
Byt -6y = 2ATmpy’-2y4-99=0
4y —1ity -99 =0
44+ ~11(419) =0

(Y-u) (4+4) =o
5_.1':0) ‘j +q'=O—}ld=l!)"#:"1
I Y=-9 {impossible) 4:" Y=1 lhen from

A=3(I)-6=25% ¢ =27
Se lengTh of origina| rec‘\anﬂlc:x=?."tm
widlh o-f oriﬁs'nal recianf,{e: y=11,,

Q.12

t
!
1
1
1

Rl AP

{et breadlh Cwidth) of original vectangle=2
Lenjlk of Orijfnal recianale = X+5
Afler cu'Hinﬂ a strip of 05 cm Frem.
all  arreund.

Changc m breadth =X-2{05)=2—)

{hange in [c_n31h TX15-2{05) = Ty S
= XX+4

www.MathCity.org

New breadlh of new reclangle = oc—|
Le_ngih of new rec{anf]'e; Tl
Area = Length x breadth

so Areo = (x+4) (x-1)

But Area =500cm*

500 = (2+a)(ac-t)
X=X +YX —4 =500
X4IX -504 ~ o

X424 x —2lxc-So4 =0

( 9tven)

X(X+24) - 21 (X +24) =0

(x-20)(x+24)  =p
X2l =0 , 424 =p _
X=2l , X= =24 (impossibie)

Jj X =21 then Xt§5 =21+ = 26

e Lenﬁ‘ih o-j on‘ﬂinql rec('anﬁlc =26em
bread H\, o—f Orl'gflﬂal redanjw: 2l em..

0-13 et

unil digit =
tens digit =y

Then numbey =

:C.+IOH
!—\ccording lo given condition.
XYy = (§§ ~— @

o oy -27 = Y+ o
X+ logﬂf_‘l-g —~loxX =0
WY -qx~27 =o
- X -3 =0
Yy = 3C+3—-————>®
Putling value of Y in @)
xX(X+3) =18
x*+3x -8 =0
x"~3x+6x~18 =0
L{X-3)+6(X-3) =0
(x-3)(x+6) =0

X~B3=0 , ¢4 6 =0
x.'.:.a H x:—-()
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1_{ x=3.1hen fronn@ Y=3¢3 =6 '.U011 5 A

then numb-er = X+joy-

= 3+ Jo(b)
= 63
1J x=-5 then -frum@ y= ~6+3=-3
then number = ¢4 10y

= -6+ 100-3)

- . . = 6
Hence re_qwred number (s

' €3 or -D6
Q.14
‘ Let unil d!ﬂ[t -
tens digits = Y
Then number = I+|OH
Acc'nrdinﬂ to given condition.
Xy = Y —Q)
:x+tc>3+q5' =Y+ 10
oK +loy +iS—Y —l0X =0
Gy ~4x +45 =0
Yy -A +5 =0
¢+ = %x-5
Pultinﬂ volue oj Y i eq@
x(%x-$) =14
C x*osx —~ly =0
x*r2xTL 1Y =0
a (ot Z.}—T(I-f?.) =0

(k-7 (x4+2) =o0
XA-T=0 , ;Jf;'+l=0-9 x=7,X=-2
f %=7 then from @ 4=7-5 =2
Then number = X410y |
= "1 +1l0l2)
= 21
If %=-2 thew from @ Y =-2-5=-7

Thenn. number = xt+loy
= —2¥lo (-N=I02
Hence number: I8 27 or-1L

37

A B
Given Thal in righl ﬂhgied Lrl‘anﬁlc

Avea = 210 m* , Hypoleneous =37
lel  pase =&, Ferpendicular = ¢
We know thal
Area of Lriangle "%‘kﬁ“se)(ﬂuiiude)'
2o = Loty
w0y = 420 W 2xy =G4 —(D
Bj Pujlhagoru's theoren, |
(hyP)" = Base) + (Prep)
Hyp = J—Eﬁase)l+ (Peep)®
_Puil‘l‘vlj values we 3@1-
31 = | x* 4 #z—‘
or x4y - (31)°
xtayt = 1369 —>@
Sublracling  eq (D from cg, &
iyt~ 2wy =569 -B4e

)&

(x-9) = (25)"
“w XL-Y = 25
of = ‘d +13 -—-——-'—"“) @
Putling value oj‘ x i @
2(Y+23)y = 8lo
l(‘j")"i' 13y = Hio
‘d-l'-r t3y ~42o =0
- 12y + 35y -HR0 =0
%(%-m)%s(-\}—n) =0
(4 +35) (Ynz) =9
Y433 =0 Y-t =0
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kj = —3S(linpossible) ld’ 2[2 I{ %: Lio 'ﬂ\eh {I”om @

If y=12 1hlc;£o3mgs X =402 - 42

So, Base = 3§m;PUP“dlcular-IZm Hance lenglh of rec.’(anate X=h2m
0 1 6 Brcadih (wldfk)of rectangle= 4 = 4om

Q.17 |

Let Lel B can do werk in doys = X
Lﬂjﬂl of rcclqule 3 ’,”’  Work dene ba B in one day = _:I’_C
awidik o[r;dongle ,,” t A can do work ih daﬂs =x+l0

=% 7 ork done by A
dl.ﬂjoml of x . W rk one l, n one dnu x.{-‘o
reclangle = 3 = Aren =le.n91h xwidlh Work denc bglbaih B and B in
o 1680 = xy ——>( ne day =t

(riven that

'Gu‘ven TLkat' 5, =1‘.Z8 _ A and B both can de werk jn one dag=12.
By Fy agoras ‘heorem e Work done by both A and B in one day ="lli

(ng)L=(bese)l+ (prepy” | |

So Atd— =4

By the fiqure | ' x | xxle 12
Y _;(23: DCL-;-IJ?' Mul'i.iPlyama LH 1226{XxHO) we gei
—y (5’8}?—-_-: x’—{-bﬂ- lax(x*lo)i—i-lz_x(x*lo)' =123c(xem) )
Coxteyt o= 3384 @ (x+10) Iz

From © xy = 1680 2 {X410) +1223¢ = X (x4)0)

- 2xy = 3Bb0 —® 123 +120 4120 = X4 lox
oy oy Of ey @ e o xres

Xy o2xy = 3B6L-3360 | X Ho 24 XL ~120 =0

X°—14x—120 =g
xr-2ox 46X ~120 =¢p
X (x-20)+6(X-20)=0

Xyt —-2xy = 4
= )
-4y = !

o 4 xX-4 = ¢ (x-20) (X+6) =0
q X = H*Z#—-—)@ X—-20 =0 ; X +6 =0
Futting value of x ™M O X = 20 , 9= - (impossible)
(y+ ?_“)3, = {680 . Hence & con finish }'us worle alone
&7'+2.|&-le0= o ‘ in 20 days. ]
Yyt hzy-boy -lbBi=o . 18 et
3(54—‘-{2) "HOL(&""QZ):O B can do the jeb in daas =
(4 ~4o) (g +42) =0 - Work done by & '“"“EO“W
y-4o=0 y+u2 =o A cawn do the Job m duas “Z-I

% = {b , 3 ‘: _l_lz(mroﬁluﬂ) * Work done by A In one dqazﬁ
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Work done by bslh Aand B in one daﬂ =
R I :

=xtax

(viven that

A and B both con do the job Aogs =4

work done ba both A and B in ope d°5

L
4

S J -4
° i*"zji =g
Muli‘i}?lndina b‘é’ LX we 96{
Qx--‘aa-k‘-l’-(--z"ac :L{x..‘!‘_
L4 42 =X w» X=6
[j— X=6 Then 2 =2(6) =12
So B can dg JOb in 6 daH,s.
while A can do Job in 2 daya - |
0!19 R YA
x-4 x
Vel
Piece of Tin N Pizc:.\o.F
a‘{fyy wtt:'nJ 24m SWTl'n

d’wm each Corner.
Lel lenglh of piece of square tin = 2cdm
width of piece of squave tin

xdm
After cu“ina 2dm {ram each corner
Lenglh of box = X -4 dm
wrdth of boX = x—*_l—‘dm
Hsl‘ghf of box= 7 dm
we know lhat
Volume oj box:lcngfhxwldﬂ\xﬂefahi
So 128 = (X-h)(x—q)\.a_
(x-a) =64
(x-4)" =(8)"
A~y =0 wed WH=8+4 =12

So ;=2 dm is leﬂa'"m of
square tin piece.

Provi de by: Mm n

Fazai a Degree Coll ege,

0.20 Let A and B be The twe

companies - Now let
Tnvestment in company f = X Rs
Invest ment iy COMPOHHB = IOOOOO—-:xf'h‘
Pro}it rale in cOmPunJ A = I.J'[
T)yoiit rale In C.DmPan3 B :(_'d"’l) 7

As we know that
PVD;FH’ - ‘Amounl x Rate x Pcrl‘od

loo
Se 1980 = xx_ﬂ___._._rxlnyxg.:IQBooo—@
L0
Mso oo _ (122000~ %) (4r1)x|
o0

(locove —xc)(Y+1) = 3o8ooo
IOODOfJH + I-ooooo - ocg, — X = %olooo
[ooooold — ;x_g - U = Pofooco—|0oc00
locovoy — | Gf000 ~A = 2o8oo0
{oooooy — X = Zofooo+ 198 ooo
!oooooa . =Y{obteow —~—>®
From(D) =982 >3
Putting value of 2 in @

fecsooy 198299 . 406000

loooaoldl—lﬂ Booo = Yobeooy

Soy" —a9=202Y  ~ Dindig by 2000

y= 203t f-2e3f 4 (Se)(~qq) . 203+ [6load
2.(50) s
_ 2032247 _ yso _Tht
3 Jo0 i Tloo ~ oo

Y=4:S ;Y = -0-44 (impossible)
Pu“l‘n:] value o{ Y m@

jaq & oco
X = - ¢ =44 ,000
-5 4

lavestment in company A= 44,000 Rs,

Inveslmend In companaBziooooo-lqlgooo

- 56!000 RS

Al i
Peshawar .
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